EERRERAT —TT-GFH / BARGADE
22 /N N2
> A Bl LB 3R
BKE_RF=FT_H=1T—HILEE
ERapll
—ET=F —ET_F
Bt E FHET FHE T
REET
REREMEEHREEHE 29(a) 1,893,830 2,718,641
ENHE (264,093) (285,204)
EHBEENGEH (84,223) (41,332)
B8 B K8 SN K (116,440) (74,109)
REREEB 2R FHE 1,429,074 2,317,996
KREXEK
BERETEEE (BXREFERIN (918,898) (354,826)
Wb — T B 2 A 29(d) (74,397)
BEWB AR 2 EIIMER (110,000) =
BEFHERRKRE (9,217) (32,176)
BeEARERER S (FEIMER 584,738 (281,981)
BERIAKE (155) (2,576)
BEXEK (1,817) =
£ H fE W BR 1B 2 38 40 (30,068)
2K H B 26,118 30,849
B A R 2 25,009 125,325
B ETRIFLTRERE 11,418 27,727
?ﬁx&ﬁ’lx\ Al (BX) EEZ (220) 1,300
LEESHEHFERIE = 1,660
ﬁ’%lméﬁgﬁﬁ%?x 159,767 151,131
HERBAKREFERIE 18,573 =
EANRKREEK 2R FH (244,752) (407,964)
BMERBESRAFE 1,184,322 1,910,032
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EEERARLE —TT=FFH / GEEERDE

D BABSRBE @)
HEEFR=

]
FT+ZH=t+—HILFE

ERapll
ZET=F ZETF
Bt 5 FHET FHE T
MEXEB 29(b)

BATIRANFT1S KR 37,609 752
BERAEFHIARBRXH = (1,251)
BERITER (2,402,270) (7,281,010)
f& 5] Al A iR 1B 75 = (1,993,282)
FriEUERITE R 1,545,681 6,683,486
EATRE (161,038) (227,526)
LERRIAES 474 45,124
ENHEARTLEBRERE (4,017) (200)
DERRER 2R D (29,865) (6,500)

FERRNBERE ZH T FHE

RerBReFE2EM ORD)

R—A—BZRERAEEFE

RTt-—A=+—BzHRekBREEE

RekBReEEZOM
RITIFRER

ReMRITHERE
BERMRITEX

(1,013,426)
170,896
1,421,245

1,592,141

74,003
1,520,059
(1,921)

1,592,141

(2,780,407)

(870,375)

2,291,620

1,421,245

70,450
1,353,744
(2,949)

1,421,245




